No. K4 g EH LY 3 B -2
40 REM = RiEMkEEHE INFEAEE B F1000m 4" 27" 2 17
42 B EX REMREEK=E INFEAEE B F1000m 4’ 25" 0 14
43 kB 5mE RiEMkE E&=E INFEAEE B F1000m 3" 50" 2 2
44 =g EBSF RoRMkE L= INFEAEE B F1000m 4" 22" 1 11
46 hE RiEmkE b5 INFAEE B F1000m 4" 16" 5 8
47 % = REMEESE INFAE B F1000m 4" 06”9 4
49 ¥EiI KAE REMEESE INFAE B F1000m 4" 15" 0 7
51 NI REMEESE INZEAEE B F1000m 4 17" 6 9
52 S OKB RiEMELHE INFASE B F1000m DNS
53 e Eth REMEEKE INZEAEE B F1000m 4 12" 6 6
54 =11 - FORMELHE INFAFE B F1000m 4’ 23" 4 12
57 af 72 RiEME EH= INFEAFE B F1000m DNS
59 BAR RiK RiEMEEHE INFAEE B F1000m 4’ 24" 6 13
65 IR —iE ROEMEL&E INFAE B F1000m 4’ 26" 6 16
66 mE EA RiEME EH= INFEAFE B F1000m 3" 55" 6 3
206 FE BA EHBELEYST INFEAFE B F1000m 4 217 4 10
210 HHE & EHEEIST INFAFE B F1000m 4’ 25" 2 15
211 S S (DN EHEEIST INFAFE B F1000m 3" 46" 3 1
358 5iR 2% A/ INFAE B F1000m 4" 12" 2 5
709 FIR BRAR KIEJAC INSEASE BE F1000m 4" 13" 6




